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Our first observation is that there is no need to check every z € C to verify that

a given rational function r originates in an A-stable method (such an r is called A-

acceptable).

Lemma 4.3 Let r be an arbitrary rational function that is not a constant. Then

|r(z)| < 1 for all z € C if and only if all the poles of v have positive real parts and
[r(it)| <1 for allt € K.
V

ﬁvgv@vééé@%

1::.‘ -

i 9 Q oo

Next -\huf) e PDEL . skl Yo apler B,

PPy« litde b toy

Gim plest CXoMPAS Tragu@, o mkiod

\3)’“'\ < ‘év\ - 1—2-‘ ("@(‘Q\M\bw\ A Q/UTMU \)\M’\)/)

—1 . At {
W6 30 o Akols waetliod ol ot




Otfur o \bcation wekliod s from Qoum Quadrehurc,

Note . all toloccha watliods oan Yuglicd.. olgo (SO
Q)C(,Y\*G\— BK amdod 1o B-skabe ...

W b c\cHJk:\ AL O %M?\:}o{# wmathod, 2

e = Uyt b U}(%“,\M v b ,\)\w))

W For 2 A YUned

Z =Wt 17){ Ué(@vx,\’)w\ \*Q’UTHU z ))

owd  Hu b Yo =,

Yeems Lilke T wuh ky tnoerk Mo, fuekton 3 WRE Hus o
o ‘oot \’—W}‘,u} puslten~

Oy~ P+ 2Ry BBy 2 ) -2

Unt some pmenttad Hdemgns to fend 2 sadntud
¢y =o.

T P come § ¢ Liwean Ue, %—(ZSCAI‘,} R
g T a5y fo solate. bk pat & 3 b5 wou livean,

VB \zA cost) jlo}‘“ 0.3
Uit Cant mvumawml@ Sorwida ... b asvod

At Homan X




In ca,umrz& w, Fnd ¥ I(—cm,\'tac\lus m.,vcb oker gud
b appridocabions ..

A—qw:tc% o Yoo 4o puypd watad
Fabilly §) B Yook findiey awlead

To find 2 suh Shad D=0  huso Wheas
Oy~ P+ R Ry v BBy 2 ) -2

(;) NesHong  wetduod -
ey 9@
Obm = 82
Zo= twbiad qooy
ZEM\":Ca(%ﬂ Yo Uwdt 2 o >

M Bt to goadvatte st
ol Wewbout m wmaey Sy m
sur o\ JusoWrhans Myudivs ot Zo .

,\/\/\_/—\_/_\/
Tubd LVWJ;S
Zo™ \:)w P K31&1« S\Mu\él\m. c\me 1 3\«
By ‘bw + Qk“\‘(tw,\‘w) M‘ﬁbm— be Owr Yo Wt

Ure om Q,KP“(A-A’ wmefled o ‘.u,(.‘n“oh‘y% QR85 S -
M\'@M“) o Hied - T kol F)m,% couldk also be
tobuinud oy Viceckines . My aa b5 b peeseonetiy
b“&-ql»u,\n{\{% o M Aol gatled. .



ae reviQZ(— ‘Hn,cs ek e kv He exan~

W= v;\z tos() Yloy = 03




